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All Questions

1. Find the value of each of the following: 112 (i) 93

(i) 5

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_aabvSqjyecnh

2. Find the value of each of the following: ( — 3)*

(i) (— 4)° (- 5)*

° Watch Video Solution

3. Simplify: 2 x 10? (ii) 7% x 2?

° Watch Video Solution

4. Simplify: 2% x 5 (ii) 0 x 107

° Watch Video Solution



https://dl.doubtnut.com/l/_W2k3TauITTu5
https://dl.doubtnut.com/l/_LffndX5ieJri
https://dl.doubtnut.com/l/_vbOdpmOFqF2J

5. Simplify: 5% x 32 (ii) 2* x 32

° Watch Video Solution

6. Simplify: 32 x 10% (ii) 5° x 2*

° Watch Video Solution

7.Simplify: ( — 3) x (— 2)° (i) ( — 3)* x ( — 5)?

° Watch Video Solution



https://dl.doubtnut.com/l/_E9nHcQkEQF3g
https://dl.doubtnut.com/l/_Lqr232jfnCGR
https://dl.doubtnut.com/l/_heXkVzzuIaBT

8. Simplify: (—2)° x (—10)°

(—2)*x (- 5)’

(i)

° Watch Video Solution

9. simplify: (1)° (i) ( — 1)°

° Watch Video Solution

10. Simplify: ( — 1)° (i) ( — 1)7

° Watch Video Solution



https://dl.doubtnut.com/l/_NWAXOLnX9KrV
https://dl.doubtnut.com/l/_ACWqa1qOVxSf
https://dl.doubtnut.com/l/_4ntEPVdFwxt6

11. Express each of the following in the form %:
2\? i (=2 S r—2\*
3 4 5

° Watch Video Solution

12. Identify the greater number in each of the

following: 55 or 3°(ii)2° or &2

° Watch Video Solution

13. Identify the greater number in each of the

following: 2'% or 102 (ii) 2'°° or 1002


https://dl.doubtnut.com/l/_Vpf1C1Nd9lUH
https://dl.doubtnut.com/l/_a86sdky9g8bd
https://dl.doubtnut.com/l/_ymY7cqHQu41W

° Watch Video Solution

—2
14. Find the product of the cube of S and the
4
square of —

° Watch Video Solution

15. Express the following as a rational number:
1\ (=3Y" (=)
2 5 9

° Watch Video Solution



https://dl.doubtnut.com/l/_ymY7cqHQu41W
https://dl.doubtnut.com/l/_bOYL1LWXAkNq
https://dl.doubtnut.com/l/_ZE6yyYZzXlA3

16.  Simplify: (—3)° x (;_25)2 (ii)
()

° Watch Video Solution

o e (-} o
- )

° Watch Video Solution



https://dl.doubtnut.com/l/_eedpmF9bvxpr
https://dl.doubtnut.com/l/_VBJ0Q36QllBb

18. If a = 2 and b = 3, then find the values of

each of the following: a® + Bl (i) a® + b°

° Watch Video Solution

19. If a =2 and b = 3 , then find the values of

: a\e 1 1\
each of the following: <3) (b) - + -

° Watch Video Solution

20. Simplify and express each of the following as

power of a rational number:


https://dl.doubtnut.com/l/_9D3Xm3IFS9Hd
https://dl.doubtnut.com/l/_LEMcqZI74qOA
https://dl.doubtnut.com/l/_YWfgAS2usGTr

2
22><52><49+ 43><5><3
5 7 5 5 4" 4

o Watch Video Solution

21. Express each of the following in exponential

form:

(=) x (-4 x (=Y x(-4)x(-4x(-4)
3 3 3 3

(||)g><g><g><g

° Watch Video Solution



https://dl.doubtnut.com/l/_YWfgAS2usGTr
https://dl.doubtnut.com/l/_jwHjUQzGChOf

22. Express each of the following in exponential
form: 2X2X2XaxXa (i)

axXxaxXxaxaxbxbxexexexexce (i)
X a X a X —2 X —2
@raxan\T3 3

° Watch Video Solution

23. Express each of the following numbers is
exponential form: 128 (ii) 243

(111)3125

° Watch Video Solution



https://dl.doubtnut.com/l/_VxEqsuPdYwM4
https://dl.doubtnut.com/l/_X0R6veSYwuX2
https://dl.doubtnut.com/l/_zkkIe9YXHB1A

24, Express each of the following numbers as a
product of powers of their prime factors.

432 (i) 648 (iii)540

° Watch Video Solution

25. Express the following numbers as product of
powers of their prime factors:

1000 (11) 16000 (iii)3600

o Watch Video Solution



https://dl.doubtnut.com/l/_zkkIe9YXHB1A
https://dl.doubtnut.com/l/_zSDsZ5ceRAhE

26. Express each of the following rational numbers

in exponential form: 27 (i) —27 (iil)) —— 1
P 61 " 125 "3

° Watch Video Solution

27. Find the value of each of the following: 132 (ii)

73 (iii) 34

° Watch Video Solution

28. Find the value of each of the following: ( — 7)*

(i) ( — 3)* (iii)( — 5)°



https://dl.doubtnut.com/l/_DZTXj1uVMRIm
https://dl.doubtnut.com/l/_TrauwZd9e8u2
https://dl.doubtnut.com/l/_4LAGLd1x1ePv

‘ ° Watch Video Solution

29, Simplify: 3 x 10 (i) 22 x 5° (iii)3* x 52

° Watch Video Solution

30. Simplify: 3% x 10* (i) 2* x 3 (iii)5* x 3

° Watch Video Solution

31. Simplify: (—2)x(—3)° (ii)

(—3)% x (= 5)° (i) — 2)° x ( —10)*



https://dl.doubtnut.com/l/_4LAGLd1x1ePv
https://dl.doubtnut.com/l/_OvjTCR5w3U5p
https://dl.doubtnut.com/l/_fJwS5e5t7rr4
https://dl.doubtnut.com/l/_3MR8OJQN5gkg

‘ ° Watch Video Solution I

2 4 5
32. Simplify: (%) (ii) (_72) (m)(—Tél)

° Watch Video Solution

33. Indentify the greater numbers in each of the

following: 25 or 52 (i) 3* or 42 (iii)3® or 5°

° Watch Video Solution



https://dl.doubtnut.com/l/_3MR8OJQN5gkg
https://dl.doubtnut.com/l/_GqpN0MWkZka3
https://dl.doubtnut.com/l/_7fiUDAUF7sIB

34. Express each of the following in exponential

form: (—=5) x(—5)x(—5) (ii)
-5 -5 -5 -5 i
7 7 7 7 .
4 4 4 4 4
373737373

° Watch Video Solution

35. Express each of the following in exponential
form: X X X X X Xaxaxbxbxb (i

(—2)x(—=2)x(—2)x(—2)xaxaxa

o —2 —2
(”I)(T) X (T) X X X X

° Watch Video Solution



https://dl.doubtnut.com/l/_fNlSdoZ9C1UQ
https://dl.doubtnut.com/l/_LMf1kJFk2VpF

36. Express each of the following numbers in
exponential form: 512 (i) 625

(111)729

° Watch Video Solution

37. Express each of the following numbers as a
product of powers of their prime factors:

36 (i1) 675 (111)392

° Watch Video Solution



https://dl.doubtnut.com/l/_LMf1kJFk2VpF
https://dl.doubtnut.com/l/_aodXyOnvOC8y
https://dl.doubtnut.com/l/_kZO0LgrvF4RB
https://dl.doubtnut.com/l/_c0vAMerUXD0v

38. Express each of the following numbers as a
product to powers of their prime factors:

450 (i) 2800 (iii)24000

o Watch Video Solution

39. Express each of the following as a rational

p (3)2 ) (7)3
numbers of the form —: | = (i) { =) (ii)
q 7 9
_92\*

° Watch Video Solution



https://dl.doubtnut.com/l/_c0vAMerUXD0v
https://dl.doubtnut.com/l/_MUILlkT1w4BR

40. Express each of the following rational numbers

in power notation: 49 (ii) — 64 (iii)— !
g ‘62 "V 125 " 216

° Watch Video Solution

41. Find the value of each of the following:
—! : x 2% % 5 : (i)
5 1 i
-3 4>< 4 4>< ~15)°
5 9 18

° Watch Video Solution



https://dl.doubtnut.com/l/_wQlUebYxI0ej
https://dl.doubtnut.com/l/_3QxEqgLUhJCH

42. If a = 2and b =3, then find the value of

each of the following: (a + b)® (i) (ab)”

° Watch Video Solution

43.1f a = 2and b = 3, then find the value of each
. b\’  [a b\*
of the following: | — | (ii) [ — + —
a b a

° Watch Video Solution

44. Simplify and write the answer of each of the

following in exponential form: 52 x 55 (ii)


https://dl.doubtnut.com/l/_344a964PIfIt
https://dl.doubtnut.com/l/_V1btl3kGqJ41
https://dl.doubtnut.com/l/_DE4LXu3qEaGq

32 x 3t x3®

° Watch Video Solution

45. Simplify and write the answer of each of the

following in exponential form: 7*z7% (i)
3 2>< 3\°
2 2

° Watch Video Solution

46. Simplify and write each of the following in

exponential form: 9" = 97 (i) (= 7)" = (= 7)°


https://dl.doubtnut.com/l/_DE4LXu3qEaGq
https://dl.doubtnut.com/l/_K0IUBuweBAaJ
https://dl.doubtnut.com/l/_0HGvhlgubpyy

(=) ()

° Watch Video Solution

47. Simplify and write each of the following in

exponential form: (23)4 (ii) (( — 3)5)3

° Watch Video Solution

48. Simplify and write each of the following in

9y 5
exponential form: {(%) } (ii) (32)5 o (34)2

o Watch Video Solution



https://dl.doubtnut.com/l/_0HGvhlgubpyy
https://dl.doubtnut.com/l/_Pr4ppzHI39QC
https://dl.doubtnut.com/l/_KshSz1hdhD2X

49. Express each of the following products of
powers as the exponent of a rational numbers: (i)

25 % 3 (i) (— 4)® x (= 2)*(ii)3" x (—2)7

° Watch Video Solution

50. Express each of the following as rational

wmbers (0~ 2) (2)

° Watch Video Solution



https://dl.doubtnut.com/l/_KshSz1hdhD2X
https://dl.doubtnut.com/l/_NgGDdRTOztxE
https://dl.doubtnut.com/l/_CACy5tjem3pe

51. Express each of the following powers as the

product of powers: (3a)® (i) ( — 4)”

° Watch Video Solution

52. Write each of the following in the from ﬁ:

(2o () |

° Watch Video Solution

53. Using laws of exponents, simplify and write the

answer in exponential from: 2° % 28 (ii)


https://dl.doubtnut.com/l/_5znNjrzWfK8B
https://dl.doubtnut.com/l/_eIBznQ8AacYy
https://dl.doubtnut.com/l/_nv7BWcsVqEL0

32 x 3t x 3

° Watch Video Solution

54.Using laws of exponents, simplify and write the

answer in exponential from: 61° = 6% (i) (53)2

° Watch Video Solution

55. Using laws of exponents, simplify and write the

answer in exponential from: (72 ’ = (i) 2° x 3°
p

° Watch Video Solution



https://dl.doubtnut.com/l/_nv7BWcsVqEL0
https://dl.doubtnut.com/l/_1ma4G2plVFuj
https://dl.doubtnut.com/l/_X6tuHupIi3j9

56. Using laws of exponents, simplify and write the

answer in exponential from: a* x b* (i)

(2%0 + 2'%) x 2°

° Watch Video Solution

57. Simplify and express each of the following in

(i { (5)° x 5} + 57

7

exponential from: 7 .
3" x3

° Watch Video Solution



https://dl.doubtnut.com/l/_Nd07V9dSiF0k
https://dl.doubtnut.com/l/_PiRRNsbDMYqg

58. Simplify and express each of the following in

7 o 81,3
exponential from: 3_ % 35 (ii) 4’ x a°b
32 45 X a5b2

° Watch Video Solution

59. Simplify and express each of the following in

exponential from: 2° % 5° (i) 28 x 2% x 5°

° Watch Video Solution

60. Simplify and express each of the following in

exponential from: {(22)3 X 36} x 59 (i)


https://dl.doubtnut.com/l/_W2sqIxouH8Bp
https://dl.doubtnut.com/l/_9wypzyD6TUwC
https://dl.doubtnut.com/l/_ZUS1TELBS38I

(5) "

° Watch Video Solution

61. Write exponential form for
Ey
l""""8{\rm{ B \times {\rm{ }8{\rm{ }} \times {\rm{

B8{\rm{ }} \times {\rm{ }}8

©

Watch Video Solution

62. Simplify and write each of the following in

exponential from: g2 + 23 (i) 25% = 53


https://dl.doubtnut.com/l/_ZUS1TELBS38I
https://dl.doubtnut.com/l/_wLaNmi0OSSTM
https://dl.doubtnut.com/l/_5jMb0mKXTEkl

° Watch Video Solution

63. Simplify and write each of the following in

2%« a® i 23 % 3% x 4
ot 3x32

exponential from:

° Watch Video Solution

64. Simplify: 2°° x 200 — 297 » 218 (ji) 23 x a® x 5a?,

3n + 3" t1

Where n is a natural numbers.
)
37’&—1—1 o 3n

° Watch Video Solution



https://dl.doubtnut.com/l/_5jMb0mKXTEkl
https://dl.doubtnut.com/l/_mKLfirclcJx8
https://dl.doubtnut.com/l/_VDcQJNcZvdMh

4«9 25 x 52 x t8
65. simplify: =<2 X4 @) (i)
6% x 8 x 27 10° x ¢4
3 x 10° x 25

5 x 6°

° Watch Video Solution

66. Express each of the following as a product of
prime factors only in exponential from: 108 x 192 (ii)

729 x 64

° Watch Video Solution



https://dl.doubtnut.com/l/_2SUGcN1JcwB2
https://dl.doubtnut.com/l/_SJqCgIMZWdHX

67. Compare the following numbers:

2.7 x 102 and 1.5 x 10% 4 x 10and 3 x 107

° Watch Video Solution

68. Find the value of n in each of the following:
(22)" = (2%)" (i) 27+ 9n = 2

2" (—5) x5 " (—4)=5

° Watch Video Solution



https://dl.doubtnut.com/l/_dDjuRP7TINef
https://dl.doubtnut.com/l/_6YU00FSZXDGU

69. Find the value of n in each of the following:

2" =T « 5" =4 = 1250 (ii) 5" "2 x 32" 3 = 135

° Watch Video Solution

70. If 25" * (—1) + 100 = 5° * ( — 1), find the

value of n.

° Watch Video Solution

71. Find n such that


https://dl.doubtnut.com/l/_DvKPWLvriLPR
https://dl.doubtnut.com/l/_Ih8lnL0tCkZ8
https://dl.doubtnut.com/l/_qsJA7G7D9H4n

() (%) -()

° Watch Video Solution

P 2\? 6"
72. If E: 3 = 7)o find the value of

o Watch Video Solution

73. Find the value of m SO that

(=3)" " (+1)x(-3)°=(-3)

o Watch Video Solution



https://dl.doubtnut.com/l/_qsJA7G7D9H4n
https://dl.doubtnut.com/l/_IyvyjXHGHTnL
https://dl.doubtnut.com/l/_MeCLD1UgB9ly

74. Using laws of exponents simplify and write the
. . 3 4 5 .
answer in exponential from: 27 x 27 x 2° (i)

512 - 53

° Watch Video Solution

75. Using laws of exponents simplify and write the

answer in exponential from: (72)3 (i1) (32)5 + 3

° Watch Video Solution



https://dl.doubtnut.com/l/_MeCLD1UgB9ly
https://dl.doubtnut.com/l/_4PLq9dlap6lc
https://dl.doubtnut.com/l/_XV5XQpHL24ir

76. Using laws of exponents simplify and write the

answer in exponential from:

37 x 27 (i) (5% + 5") x 5

° Watch Video Solution

77. Simplify and express each the following in
exponential from: {(23)4 X 28} + of2 (ii)

(8% x 8*) + 8°

° Watch Video Solution



https://dl.doubtnut.com/l/_Ff8dj8ip5awV
https://dl.doubtnut.com/l/_PF2tdCVB8dOT

78. Simplify and express each the following in

7 4 10 5
exponential from: 5_ % 53 (ii) 5" X x Xy
52 54 % CU7y4

° Watch Video Solution

79. Simplify and express each of the following in

exponential from: {(32)3 X 26} x 59 (i)

(2)12 x y2* x (23)4

Y

° Watch Video Solution



https://dl.doubtnut.com/l/_X7FNCrodK9cr
https://dl.doubtnut.com/l/_72JqiTZTUS8O

80. Simplify and express each of the following in

, 5\° /5)\° y
exponential from: (5) X (5) (ii)
2\ ? 3\ 5
(5) ~(5)

o Watch Video Solution

81.Write 9 X 9 X 9 X 9 X 9 in exponential from with

base 3

° Watch Video Solution



https://dl.doubtnut.com/l/_cKMSllfAbCNf
https://dl.doubtnut.com/l/_8Vf6LRhaGFoX

82. Simplify and write each of the following in

exponential from: (25)* + 53 (ii) (81)° + (32)5

° Watch Video Solution

8. Simplify and write each of the following in

5
| 0" x (2%)" 82 78 x 13"
exponential from: (i)
(27)* x (23)* 21% x 91

° Watch Video Solution



https://dl.doubtnut.com/l/_DNAG43ZAfgKa
https://dl.doubtnut.com/l/_tuyJx544i1NR

84. simplify:  (3°)" x (3%)" — (3°)" x (39",

16 x 2" Tl — 4 x °

16 x 212 _ 92 x 9nt?2

° Watch Video Solution

n—+1 n
85, Simplify: 10 x 5 + 25 X 5

3x 52410 x 571
(16)" x (25)° x (81)°

(15)" x (24)® x (80)°

(i)

° Watch Video Solution



https://dl.doubtnut.com/l/_E4tIHa5lgOor
https://dl.doubtnut.com/l/_ZhRR39ZHKxtZ

86. Find the value of n in each of the following:

52" x 53 = 5M (i) 9 x 3" = 37

° Watch Video Solution

87. Find the value of n in each of the following:

8x 2" (+2)=32G)7" " (+1)+~49="7

° Watch Video Solution

88. Find the value of n in each of the following:

Q)


https://dl.doubtnut.com/l/_rLS1lAxZU2mx
https://dl.doubtnut.com/l/_EekOpCy4VFkE
https://dl.doubtnut.com/l/_ILzwG1EwMFm7

B @ -G

° Watch Video Solution

9 x3Ex 32" 1
89. if - = 57 find the value
(3%)" x 2°

ofn

° Watch Video Solution

90. Express the following numbers in the standard
from: (i)3,90,878 (i) 3,186,500,000

(111)65,950,000



https://dl.doubtnut.com/l/_ILzwG1EwMFm7
https://dl.doubtnut.com/l/_EvvACs8F7m27
https://dl.doubtnut.com/l/_QvXs7Rx56j8B

‘ ° Watch Video Solution

91. Write the following numbers in the usual form:

7.54 % 10° (ii) 9325 x 102 84 x 102

° Watch Video Solution

92. Express the following numbers in the standard

form: 3908. 78 (ii) 5,00,00,000

° Watch Video Solution



https://dl.doubtnut.com/l/_QvXs7Rx56j8B
https://dl.doubtnut.com/l/_OFWm0mcpw0op
https://dl.doubtnut.com/l/_Ys1WevRsdskn

93. Express the following numbers in the standard

form: 3,18,65,00,000 (ii) 846 x 107 723 x 10°

° Watch Video Solution

94. Write the following numbers in the usual from:

4. 83 x 107 (i) 3. 21 x 10° 3. 5 x 10°

° Watch Video Solution

95. Express the numbers appearing in the following

statements in the standard form: The distance


https://dl.doubtnut.com/l/_iElj7NfeHTde
https://dl.doubtnut.com/l/_xj8yKYGUavj2
https://dl.doubtnut.com/l/_KyIqC8ZJ2p8R

between the earth and the moon is 384,000,000
metres. Diameter of the earth is 1,27, 56,000
metres. Diameter of the sun is 1,400,000,000 metres.
The universe is estimated to be about

12,000,000,000 years old.

° Watch Video Solution

96. Write the following numbers in the expanded

exponential forms: 20068 (ii) 420719

° Watch Video Solution



https://dl.doubtnut.com/l/_KyIqC8ZJ2p8R
https://dl.doubtnut.com/l/_RaTXIGogzMEr

97. Write the following numbers in the expanded

exponential forms: 7805192 (ii) 5004132 927303

° Watch Video Solution

98. Find the numbers from each of the following
expanded forms:
7 x 10* 4+ 6 x 10* 4 0 x 10* + 4 x 10" + 5 x 10°

5x 10° +4 x 10* + 2 x 10® + 3 x 10°

° Watch Video Solution



https://dl.doubtnut.com/l/_eigRrAHsdQ2f
https://dl.doubtnut.com/l/_gSy0CE2zNRFo

99. Find the numbers from each of the following
expanded  forms: 9 x 10° + 5 x 10* + 3 x 10*

3x10*+4 x 102 +5 x 10°

o Watch Video Solution

1 o-1 —1=i _ 1
100. (6 877) =g (0)24-24(d) — o

° Watch Video Solution

101. 25 = (a)64 (b) 32

(c)256 (d) 512



https://dl.doubtnut.com/l/_YsOLUGAg5uit
https://dl.doubtnut.com/l/_lq4oj6eG7v61
https://dl.doubtnut.com/l/_rsMxg8irGtJd

‘ ° Watch Video Solution

102. (37" x5 () = 1—15 (b) —1—15 15 (d)

3\ ' 3 5 5 3

o Watch Video Solution



https://dl.doubtnut.com/l/_rsMxg8irGtJd
https://dl.doubtnut.com/l/_wrVkNel1jWeL
https://dl.doubtnut.com/l/_U187Nn5dlNis

104. ( . 1)301 4+ ( . 1)302 4+ ( . 1)303 4+

+( —1)* (b) 101100 (d) O

° Watch Video Solution

105. If @ = 25, then a(2)" 1+ 4% = (a)25 (b) 26

(c)24 (d) O

° Watch Video Solution

= 16) () )6 we

64 ()—19
19 16


https://dl.doubtnut.com/l/_znZUVcAl4jNq
https://dl.doubtnut.com/l/_BBBYJ7CZFBuV
https://dl.doubtnut.com/l/_sk4fV6RsFoc3

° Watch Video Solution

107. (252—152)5 = 4000

8000 3125 (d) 1024

(b)

° Watch Video Solution

° Watch Video Solution



https://dl.doubtnut.com/l/_sk4fV6RsFoc3
https://dl.doubtnut.com/l/_Jd97Kx5uCKD7
https://dl.doubtnut.com/l/_SEmcA36yfRr1

. -1
105 1\2) i 1 ] 1 1
. (_§> _(a)ﬁ()§(c)_ﬁ
(d)

1
9

° Watch Video Solution

(144)% + (256)2
0. = (8 (8)4(0) 4 (D) 8

o Watch Video Solution

o |

M. (1+3+5+7+9+11)

()36 (b) 216


https://dl.doubtnut.com/l/_rOHkW5nCfdGp
https://dl.doubtnut.com/l/_aPmNRQTxWTt7
https://dl.doubtnut.com/l/_avNqyXf0z6aD

(c)256 (d) none of these

° Watch Video Solution

(2%)"
112.1f abe = 0, then {—a =(a)3 (b) 0 ()~ 1(d) 1
(z%)°

° Watch Video Solution

13. (28) =2* ~ 3(b) 2° * 4 (2%)” (d) none of these

° Watch Video Solution



https://dl.doubtnut.com/l/_avNqyXf0z6aD
https://dl.doubtnut.com/l/_959sXRjiFMRF
https://dl.doubtnut.com/l/_r18DbEX5kkzO

M4, { ( 33 ) 2 - ( 31 ) 2 } 5 7 =
(a)64 (b) 16 (c)32

(d) 4

o Watch Video Solution

115. If abc = 0, then find the value of {(w“)b} (a)1

(b) a(c)b (d) c

o Watch Video Solution



https://dl.doubtnut.com/l/_qe0cJLHlUxY9
https://dl.doubtnut.com/l/_STfD6UXSk5rs

116. If

a=33—-3andb=3— 3_3, then% — 2 (a) O
a

(b) 1(c)-1(d) 2

° Watch Video Solution

117. What should be multiplied to 6 2 so that the

product may be equal to 216? (a)6* (b) 6° (c)6° (d) 6

° Watch Video Solution



https://dl.doubtnut.com/l/_LDEGrJdOFsXB
https://dl.doubtnut.com/l/_EzSOZjCrw1ia

8. If xzyz=0, then find the value of

(@)% + (a¥)*® + (a*)® = (a)3 (b) 2 (c)1(d) O

° Watch Video Solution

119.If 2" = 4096, then 2" ° = (a)128 (b) 64 (c)256 (d)

32

° Watch Video Solution

120. The number 4, 70,394 is standard from is

written as (a)4.70394 x 10° (b) 4.70394 x 10*


https://dl.doubtnut.com/l/_YbOWj6Nvr3UE
https://dl.doubtnut.com/l/_qEyAdU3Nqalf
https://dl.doubtnut.com/l/_gMvtapTgDoCm

(c)47.0394 x 10* (d) 4703.94 x 107

° Watch Video Solution

121. The number 235 x 10* in the usual from is
written as (a)2. 35 x 10° (b) 23500 (c)2350000 (d)

235 x 10*

° Watch Video Solution

122.1f 3% = 6561, then 3° 3 =(a)81(b) 243 (c)729 (d)

27

| ° Watch Video Solution


https://dl.doubtnut.com/l/_gMvtapTgDoCm
https://dl.doubtnut.com/l/_bfstER1f9NSd
https://dl.doubtnut.com/l/_KaCQeivNN7N0

123. If 2" = 1024 , then 22 T2 = (a)64 (b) 128 (c)256

(d) 512

° Watch Video Solution

1
2

124. (8" + 8%)7 = (a) 84 (b) 8v/77 (c) 72

(d) 8+/65

° Watch Video Solution



https://dl.doubtnut.com/l/_KaCQeivNN7N0
https://dl.doubtnut.com/l/_VegparHALfcf
https://dl.doubtnut.com/l/_RBCW8e3pavol

